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ostrstream::ostrstream(). ostrstream::ostrstream(char *s,int n,int
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#include const int N=80. void main() { char buf[N]. ostrstream
outl(buf,sizeof(buf)). int a=50. for(int 1=0.loutloutlcoutdouble
P1=3.1415926. outl.setf(ios::fixed|ios::showpoint). outl.seekp(0).
outlcoutchar *pstr=outl.str().cout} 0 0 000 OO0 0OO0OOO
Buf:a=50.a=60.a=70.a=80.a=90.a=100. The value of pi is 3.14159265
The value of pi is 3.14159265 2] istrstream 0 0 O O O O 0O O O
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(I #include #include void main() { char buf[]=" 12345.67” .inta.
double b. istrstream ss(buf). ss>>a>>b. cout} O I [ [0 [J 168.67
O 1500000000000 00 #include #include void
main() { char buf[]=" 12345" .intl,). istrstream s1(buf). s1>>I.
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